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This question booklet is divided into
fwo sections — Section- A and
Section-B.
In Section-A, thers are
100 objective type questions, out
of which any S0 gquestions
are to be answered First
S0 answers will be evaluated in
case more than S0 questions are
answered. Each question carnes
1 mark. For answering these
darken the circle with blue / black
ball pen against the correct optine
on OMR Answer shect provided (o0
Yyou. Do not use whitener / liguld
/ blade / nail etc. on OMR-sheet,

otherwise the result will be
treated invalid,

7. WUg-a § 30 AY Iwvly gyw § 7. In SectionB, there are 30 short

fari & fe=t 18 syt & 397 dr
sfvard 1 v’w 597 F e 2 9
Frutfra &1 7% afifees, 9 @vs o
8 3 ‘awdia wrr 3 wd & Frd
q 3T & 7wt &7 3@ ¢
T q® g & fog s Iw Faifta &1

8. fral sar & yAwifE v @ &
st qorerar afaa &1

answer type gquestions, oul of
which any 15 questions are to be
answered. Each question cammes
2 marks. Apart from these, there
are 8 long answer type
questions, out of which any
4 questions are to be answered
Each question carries § marks.

Use of any electronic appliances 15
strictly prohibited.
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wvE - 3 / BECTION - A

aWfTa WA / Objective Type Quostions

mFy wear 18/ wa*m&mwﬁmﬁvwiﬁaﬁ#waﬂh

Hsow#*mm#mq#wwﬁﬁmd om;ﬁow;%fz
wi/ x

Question Nos. 1 to 100 have four options, out of which only one 18 correct.

Answer any 50 questions. You have (0 mark your selected option on the

~Shee 50 x 1 =50
OMR L.
1. sin(90 -A) =
(A} sinA (B) cosA
(C) tan A (D) sccA
2. a2 asp=60" @ @ cos(a-B) &1 9 8
(A) % B 1
.c) O D) 2
If a=p=60"then the value of cos(a-p) is
1 B) 1
A O3 (8)
c O (D) 2
3. a2 0e~45° 8 @ sin 0+ cos 0 F WA
: ‘ B 2
(A) 7
o 1 D) 1
€ 3 \ r . P
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[ 110
110 = 45° then the valuc ol sin 0 + cos 0 1s
]
(A) .8 2
e =
© L o 1
2
4. aWMA=-30°R A 21804 g}
l-mn’A
-{A) 2 tan 30° (B) tan 60°
(C) 2 tan 60° (D) tan 30°
If A = 30° then the value of —218nA .
l-umzd
(A)  2tan 30° -(B) tan 60°
(C) 2 tan 60° (D) tan 30°
5. If&taneslg- 8 D sino & A B
5 . 12
5 12
© 3 D) 2
If lanﬂa-!g- then the value of sin 8 is
5 12
(A) 12 (B) 13
S , D) 12
(C) 3 (D) 5
35/A /605 Page 4 of 4-
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£

colﬁﬁ'tlnnHU‘
sinldl® cot 10*

(A) () 1

‘d..,

(D)

S

3 1
() 3

af tan25° x tan65°® = sin A & a A & w4 R
(A) 25° (B) 65"

(C) 90° (D) 45"

If tan 25° x tan 65° = sin A then the value of Ais

(A) 25° (B) 65°
(C) 90° (D) 45°

8. 'lﬁcost}exiﬁtanu-

2 2
Jl«r X l-x
(A) (B) =
y X
(C) I~ x? (D)
) ;] _ 12

If cos0=x then tan 0 =

2 .2
1+ x l-x
(A) o (B) .

) J1-x? (D)

| 110 |
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9  (l-cos'0) e
(A} cos? 0{l -cos?0) (B) gin? ll'(l +con? 0)
(€) sin?0(1-sin?0) M) sin?0(1+8in?0)
10.  y-3m W fun Rl feg o v ¥ @ 2
‘(AY (y,0) B (2,y)
(C) (0, x) (D) il & wrf Tl
What is the form of a point lying on y-axis ?
A (y.0) B) (2,y)
(€ (0, x) , (D) None of these
1. k& W TR & Ry Rum afte kx2 ~6x+1 =0 % 7@ amafes v
T § 2 '
A 6 | B) 8
.{C) 9 D) 10

For what valuc of k, roots of the quadratic equation kx? -6x+1 =0
arc rcal and cqual ?

(A) 6 B) 8
C} 9 (D) 10
12. IR R p(x) © W @E 2 B, A Poafefegs A1 pix) ® @

oHEvE § ?

(A) x-2 B} x+2
(C) x-1 (D) x+1
SS/A/605 Page 6 of 4
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' | 110 ]
If one of the zeros of the polynomual plx) is 2 then which of the

following is a factor of p(x) ?

A) x-2 B) x+2
(C) x=-1 (D) x+l

13. RER x?+ax+db ST H a3 pE. Na.p muﬁt

a
(A) 3 - (B)

b
() = (D) -

If @ and P be the zeros of the polynomial cx? +ax+ b then the value

nle P

ofa.pis
a -
b b
» (C) = (D) - e
14, Prafofga 4 @ ¥7 o sfism R 2
A)  (x+3)(x-3)=x?-4x3B) - (x+3)? =4(x+49)
€ (2x-2)2 =4x?+7 (D) 4x+31;-4.z
Which of the following is a quadratic equation ?
(A) (x+3)(x-3)=x?-4x’®) (x+3)® =4(x+4)
2 2 =
(C) (2x-2)° =4x°+7 (D) 4x+4x 4x
SS/A/605 Page 7 of 44
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15, Refum 8 Q ¥ Roa eftem 3@ R 2
(A) Sx-x3ax?s3 @) xI-x?a(x-1)°
C) (x+3)2=23(x2-5) (D) (V2x+3)2=2x%+5
Which of the following is not a quadratic equation ?
(A} Sx-x2ax?+3 B) x*-x2a(x-1)°
(C) (x+3)%=3(x?-5) (D) (J2x+3)2=2%2%5
16. Rum wftem 2x? -7x46=0 w1 fadaw @

<Ay ] B) -1
(C) 27 (D) 37

The discriminant of the quadratic cquation 2x2 -7x+6=0 is
(A) 1 (B) =1
€ 27 (D) 37
17. PR d s g x=2 F AEha w @ »
(A) (2,0) B) (2,1)

€ (2, 2) (D) % ] ot

Which of the following points lies on the graph of x = 2 ?

A (2,0) B) (2,1)
€ (2,2) - (D) all of these
SS/A/605 Page 8 of -
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8. ‘Tﬁ-'P*l..ZP* LaP- 1 wwim 3D § @ pay a= R

(Al

(C)

! B) 2

- | D) 4

IfP+1,2P+ ], 4P~ 1 are in A.P. then the valuc of Pis

(A)

{C)

i B 2

3 (D) 4

19. ®OR AR 1,5,9, .. % v 3w R

(A)

(C)

2 (B) 3

4 D) S

[110]

The common difference of arithmetic progression 1, 5,9, ... is

(A)

(C)

2 B 3

4 (D) 5

20. @AM AR 5, 8,11, 14, ... F ¥-W g 388 ?

{A)

» (C)

104l ) 114

12 af (D) 134

Which term of the A.P, 5,8, 11, 14, ...i8 38 ?

BiharboardQuestionpaper.com
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i (A) 10th (B) 1lth

i (C) 12th (D) 13th
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2. sRA(0,1),8(0,5)w C(3, 4R Aapc & W §, @ AABC ¥,
wrea (wl yaad o) @

A 16 B) 12
) e D) 4

WALO, 1), B(0,5)and C(3,4)are the vertices of any AABC
then the area ( in square unit ) of AABC is

A} 16 B) 12
C) o (D) 4

22. 1an 10°. tun 23° . tan B8O . tan 67° =

(A) 0 B 1
) V3 | (D) %
23. MR 3 Ewwy Pl & Aawell @ W 100 : 144 B, @ IH T g
* 39 R |
. {A) C10:8 (B) 12:10
(C) 10:12 (D) 10:13

If the ratio of arcas of two similar triangles is 100 : 144 then the

ratio of their corresponding sides is

(A) 10:8 B) 12:10
(C) 10:12 (D) 10:13
8S/A/605 . Page 10 of +-
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[110]
3? foll g &) @) e fazgail gt sfraifla w0 arelt T @ wed R

(A e ((B)  OTE @

() wi dan (D) Q& 7

A line which intersects a cirele in two distinct points is called
(A) Chord (B) Sccant
(C) Tangent (D) None of these

25. ammﬂmmmqtmﬂmmp%mm
g fean gm 2
Ay 9:49 +(B) 16:81
(C) 81:16 (D) 2:3

The corresponding sides of two similar triangles arc in the ratio
4 : 9. What will be the ratio of the areas of the triangles ?

(A) 9:4 (B) 16:8l
| (C) 81:16 D) 2:3
| aft 21 IR AABC 1 &S
26. AABC ~ADEF @1 BC = 3 8fl, EF = 4 I
; 54 Af2 R, A ADEF &1 &TH R
|
A) seaf? | B) 96 aM?
!
(€ 196 ¥h? , (D) 49 &2
AABC -ADEF and BC = 3 cm, EF = 4 cm. Il the area of AABC is
‘54 em 2, then the area of ADEF is
(A} 56 cm? (B) 96 cm?
2
{C) 196 cm? (D) 49cm
5161605 Page 11 of 44
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27. Rt Poga ABCH A =90 BC= 133N, AB= 1280 @ ACH 53

(A) 3 (B 4%h
(€ 5 (D) 6%
In any AABC, £ZA=90° BC= 13 cm, AB= 12 cm ; theh the valye
AC s
(A) 3cm (B) 4cm
/(C) Scm (D] 6cm

28. ADEF @M APOR® Ru1 & 6 4D = £Q awt 4R « £E, @ Praffn i

SR-wmEA R ?
*(A) ZF=«P Bl 4F =10
(C) «D=cp D) ZE=¢P

In ADEF and APQR.it is given that £D = £Q and £ZR = ZE, ther.
which of the following is correct ?

(A)  <ZF=2ZP B <F =20Q
(C) “¢D=cP (D) ZE=/P
29. AABC W ADEF W YR § % gg=gg-g‘; W <A = 40
£ZB=80°"® £F ¥ M }
(A)  30° [\(B) 45°
(C) 60° D) 40°
8S/A/605 T Page 12 of -
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AB _BC _ CA and <A = 40%
DF

AABC and ADEF are such that S5
£B = 80" ; then the measure of ZF ia
(A} 30° (B) 45°
() 60° D) 40°
30, @ yR=d g6 A waPy ol tanat § won
A 1 B) 2
€ 3 (D) AP
The number of common tangents of two intersecting circles 13
A) 1 B) 2
€ 3 (D) infinitely many
3l ﬁ'ﬁﬂﬁ%mmm&:pstfhaﬁwmmwl
(A) 25:8 (B) 25:16
«(C) 16:25 (D) i & & T

The ratio of the vollimes of two spheres is 64 :125. Then the ratio

of their surface areas is

(A) 25:8 (B) 25:16
(C) 16:25 (D) none of these

32, deEl ) Bremalt #1 3 4 : 5 W WA IR W IR 6: 7 W,
o T WG 1 Hq9E ]
(A) 96:125 (B) 96: 175
©) 175:96 (D) 20:63

88/A/605 Page 13 of 44
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R T LALE L R A

S,

-E o [ l l
The radii of two cylinders are in the ratio 4 : 5 and their heighty : |
r

i1 the ratio 6 : 7. Then the ratio of their volumes is

(A) 96:125 B) 96:175
IC) 175:96 (D) 20:63
33. Rnad sdtA wmupi g wn R ?
HA)  xR? (B) 2rR?
€) 3xRr? (D) 4xR?
What is the total surface area of a hemisphere of radius R?
(A)  =R2 (B) 2rR?
(C) 3=xR? (D) 4nRz
34. w&m@twmmmwnmm 14 3f 2 A
fordss 2arf
(A) 10@W ' (B) 20af
“(C) 4038 (D) 30 @&
If the curved surface area of a cone is 880 cm?and its radius i
14 cm, t.'r!en its slant height is
(A)  10cm (B) 20cm
(C) 40cm (D)  30cm
35. 3R frdt g7 & Rl H dwrd 2J/3 @ } @ s wR H =g R
(A) 23h “B) 2J3 &h
) 3aaf (D) 4@h
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| 37.

36.

110
If the length of the diagonal of a cube is 2¢3 cm, then the ltl!lgt.h of
its cdge is
(A) 2cm (B) 2J3cm
(C) 3cm (D) 4cm
e @ W R g @ T e gB Save TEA F T 78 HA% F
feaar 0 @ wmem 2

(A) AT . (B) =R

(€) wTT (D) WRR T

If the edge of a cube is doubled then the total surface arca will

become how many times of the previous total surface area ?
(A) Two times (B)  Four times

(€) Six timt;s (D) Twelve times

el 1 & T g8 Aaea ol I B & o SR F 9 98 A
® JguE R

(A) 2:1 ' B) 4:9

€ 3:2 (D) 4:3

The ratio of the total surface area of a spherc and that of a

hemisphere having the same radius is
(A} 2:1 B) 4:9

C 3:2 (D) 4:3

I 8321\[605 | Page 15 of 44
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Illui

38, R R 3R & o it e 1232 R R, W I Fem
(A) 7 B) 14 %A

1) 2134 (D) 28%A

If the curved surface area of a hemisphere is 1232 cm?then itg

radius i1s
(A) 7cm . (B) 14cm
) 21ecm (D) 28cm

39. TR cos0+cos?0=1 M sin?0+sin* 0 ®I WA R
A) -1 B) 1
.C) O (D) 2

If cos@+cos? 0=1 then the value of sinZ 0+sin? 0 is

Ay -1 B 1
(C)< .0 M) 2
2

0. l+tnnzd_

l+cot® A

(A) sec? A | -1

) cot2A 0) tan’A
FS»SIAIGGST Page 16 o
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1110

al, Pefilen 3 $3-w foa @ cmves san win B ?
14 5
A)
‘ 2[] xal . (13) 51 . ?2
8
C 15
© =3 L o
Which of the following fractions has terminating decimal
expansion ?
14 9
B ——r
(M 2“ 332 ( ) 5' ‘?1
8 15
C) ———— ) et
42, —L— ¥ w0505 A fra a1 www R
2" xs™ :
101 101
™ 2! x52 (B 2! x57
101 (D 101 :
o 22%:52 } 23 x5?
In the form of _n"E_nT , 0-505 can be written as
x5
101 (B 101
w 2! x52 ; 2! xs53
9 22 x 5% ( 22 x5%
'SB/A/605 Page 17 of 44
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[ |
43. lftmuv.?hftwn-bquib-4.q-53ﬂ1r-lﬂ7ﬁaﬁlmm?i

* {A) 20 B) 21
© 25 D) 31

If in division algorithm a=bq+r, b=4, q=5 and r = 1, then wp,,
is the value of a ?

(A) 20 B) 21

€ 25 (D) 31
44, WER 2x?-4x-6 ¥ gw §

A) 1,3 B -1,3
) 1,-3 D) .-1,-3
The zeroes of the polynomial 2x% -4x~-6 are

(A) 1,3 B -1,3

() 1,-3 by =-1,-3

45. WEEE (x3+x? +2x+1) (x? +2x+1) F U@ R

(A) 3 B) 4
. () 5 (D) ©

The degree of the polynomial (:)c3 +x242x+1) (x2 +2x+1) is

() S D)6 —
o
SS/A/605 i
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|

[110]

LA x?-7 (B) 2x2 +7x+6

1.3 1 4
(C) 2.!: +2x+4 (D) x...x

Which of the following is not a polynomial ?

Ay x*-7 (B) 2x2+7x+6
.21 * 4
(C) 5 X +§—x+4 D) &+

47. mﬁﬁmmw%mzt&-zi?

(A} x*+4 . (B) x%-4
€) x2-2x+4 D) x2+48

Which of the following quadratic polynomials has 2zeroes

2and-27
A)  xZ+4 | B) x2-4
€) x%-2x+4 D) x?+/8

48. WuER 247410 GEFa AR aspT AL

A 7 B) 10

-{C) =7 (D) ~-10

lﬁaZAtaos Page 19 of 44
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| 11g
;o l
If a and p are the zroes of the polynomial t"+7t+10 theq the

valuceof a + f is

A 7 ® 10
c -7 (b -10

49. (sin30" +co|30'l-llin60' +c0860 ) =

Ay -1 B) O
< 1 D) 2
50. uft fuma wgwa (k-1)x2 +kc+] 1 TE GI6 -4 A k¥ AA R
35 S
Ay - 3 (B 2
© -3 o 3
If one 2ero of the quadratic polynomial (k-1}x? +kx+1 is = 4 ther
the value of k is
S
w -2 ® 3
4
©o~%5 o 3

51. Mwﬂgriwmmw‘mﬂwﬂhﬂﬁﬂiw

PA=88ft M PB=
(A) o6ud B) saf
C 12%h (D) 16%H
SS/A/605 ] Page 20 of
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[ 110

From an external point £, two tungents PA and PB are drawn on @
circle. If PA = 8 ¢cm then PB =

) Gem B) 8cm
(A Eem (D) 16cm
o TR PATE PR W fag P i 0 e g w Wi i s vl ¥
g ZAPB = 80" LPOA =
(A) 40° (B) 50°
(C) 80° (D) 60°
If PA and PB are the tangents drawn {rom an external point Pto a
circle with centre at O and ZAPB = 80° then £POA =
(A) 40° (B) 50°
(€) 80° | (D) 60°
53, ﬁﬂﬁ%hmwﬂmm,nﬂﬁ%ﬂﬂﬁmm&m
A FF-T1 T AT R 2
(A 30° + (B) 45°
() 60° (D) 90°
What is the angle between the tangent drawn at any point of a
circle and the radius passing through the point of contact ?
(A) 30° (B) 45°
(C) 60° (D) 90°
S8/A/605 Page 21 of 44
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NS

IR T\

D W @ Rowadl &1 RgeE 3 4§k Qe W agee R

W 34 B 42
Y 9o M e

The ratio of e radii of two cireles is 3 ¢ 4 then the ratio of oy
ATV 1R

W d:a B 4:3

W) 9 e ) 16:9

42 ¥R Roxt @ g % 3w Nsaws Rwa TR W 20R! WA} -
EVIESEY b

1) ale 3
) o2 dD? D) 400 WH*
:‘: i:ma ol the sector of a cirele of radius 42 om and central m‘tr
(A 515 em? B) 416 em?
€) <62cm? (D) 406 cm?
ﬁq«\&wkﬁn’iwm«s:un\mﬂﬁwaﬂuaﬁmt
) TS B) s:7
(€) 25:49 (D)  49:25

The ratio of the circumferences of two circles

, i35 :7 then *
ratio of their radii is

[ SS/A/605 ]
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’ {110]
¥ | 2

sec” A-Ttan“ A=

a. 7

(A) 39 (B) 7

<. a2 x=acos0 M y=bsino A b2x? +ay?=
22
{A) ad (B) ab
4,4
(C a'b (D) a2+ !'.l2

if x=acos® and y=>bsin0 then b2x2 +a?y?=

(A) a’b? (B) ab
© a'* D) a2+ b®

59. wm%:ﬁimmmmﬁamﬂw:ﬂﬂ;ﬂm 60° ®, @ HHAR
# Sf 2
() 1o @) 10437
€ 15434 (D) 2043 #

The angle of elevation of the top of a tower at a distance of 10 m

then the height of the tower is

from its base is 60° ;
(A) 10m (B) 1043m
(€ 15/3m (D) 2043 m

' 88/A/605 Page 23 of 44
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o0,

al.

62.

e uan quf) A 30 ) @ Sard wu @ 3 gwd Byl A (,0-.[““1

L 3] q;h
el R, W B R g R
Ay 302t B) 353
) 2043 W » (D) 45¥2 @
A Kite 13 @ at o height 30 m from the earth and its string myje, .
angle 60" with thecarth. Then the length of the string is ‘
A 30/2m (B) 35/3m
(C) 2043m (D) 45/2m

R feed a1 sl we 11 d wd ST 2 @ W IR v o,
&m ?

A1 ; . (B) 2

) 3 (D) 4 .

If Sth term of an AP, is 11 and common difference is 2 then wy,
18 its first term ?

A) 1 ‘ B) 2

) 3 (D) 4

n 9E1 G FHiR A T A n? +2n 41 R wmemwe
(A) 29 (B) 19

(€) 15 (D) wHIRN

The sum of an A.P. with n terms is n2 +2n +1 then its 6th term:
(A) 29 (B) 19
(C) 15 (D) none of these
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(110}
ﬂ prafafad 3 1 woa 4 6 R -

o3
(A) I .9, 18, - (B3) =~ x". 14' xs_._.
X 2x, 3%, A%, i D) 22, a2 62, 82, ...
which of the following is in an AP ?
A 17,916, .. | x2 3, x4 o
€ x2x3x4x, .. D) 22,42, 6%. 8% ..

64, Wﬁmm&ﬁﬁﬂﬂk?
A 1.2,3.4, . B) 3.6,9,12, ..
) 2.4.6,8,.. . D) \2*. 42, 62,82, ...
Which of the following is not in an A.P. ?
w12 84 B) 3,6,9.12, ...
C) 24,68 . D) 2%, 42, 6%, 82, ...

65, A G, 4,7, 10, .. % yUH 20 Y& 1 ATHA 2
(A) 500 (B) 540
(C) S90 (D) 690
The sum of first 20 terms of the A.P.1,4,7,10,..13
(A} S00 (B) 540
(C} 590 (D) 690
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66. Prafafun i fee® ¥R | F w2

singﬂ' » cﬂsQO'

{A) sin? 60 +cos 60 (B)
. 1
; RS T
(C) sin? 60" (D) sin 45 —r
Which of the following values is equalto 17
® i L 0’
{A) sin?60 +cos60 (B) sin90 x cos 9
YRR [
(C) sin?60 (D) sind5 » m—T
67. cos? J'u}l-l-l.m'l"l A)= |
2
) sin®A (B) coscc’A
< 1 (D) tan? A
68 30. lhE'n wh,
' tan =
. 3
A V3 (B) %-. |
: o 1 .
el
69. cos60°=
. 3
A} V3 (B) % |
. o) 1 .
@ 7
69. cos60°=
J3
a3 @ 2
A (D) 1
@ &
88/A/602 Page 26
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(1101
ﬂ 4in? 90" -tan? 45" .

v
! 1
(N (B) 5
o 7 D) 0
(€ 7
i ﬁnﬁ%ﬁﬂﬁﬂf&ﬂ&umu@c%ma“‘_m g7
Ay x2+7x-30 B)  x2-7x-30
'C' In+7l+30 (D) x2_7x+30
3
which of the following quadratic polynomials has z€T0O€
s3and- 107
(A) x? +7x-30 B)  x2-7x-30
(C) x?+7x+30 (D) x2-7x+30

72. ﬁﬁnﬂﬁﬂm@éﬁmmmsq&ﬁw-zt,?ﬁn
fam wgye R
A) x2-3x-2 B) x2-3x+3
€ x%-2x+3 D) x2+3x-2

If the sum of zeros of a quadractic polynomial is 3 and therr
product is - 2 then that quadratic polynomial is

(A) x3-3x-2 (B) x?-3x+3
. i€l x2-2x+3 (D) x’+3x-g
S8/A/605 Page 27 of 44
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74.

75.

| 11g
3 , |
afe pix) =x* _2xd 417x2 = 4x+30 B glx)=x+2 8 WM fem 4y

A MPTEHA & uta 2

AV 6 B) 3

() 4 (D) 5

Il pix) ax? = 2x3 +17x2 ~4x+30 is divided by g(x)=X+2 the,

the degree of the quotient is

{A) 6 B} 3

i) < D) 5
x+2y+3=0, 3x+6y+9=0 & fFA & T ?

A (B) 7§ ¥ T
() amfmawa (D) & w5 T

How many solutions will x+2y+3=0, 3x+6y+9=0 have ?

(A) One solution
(B) _No sclution
(C) Infinitely many solutions

(D) None of these

21 Ygs adieel & daiE IR gar § @ g gen @i

A) 1 (B) 2

, (C) FPra (D) vl A = T
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|1 110]
' if the graphs of two lincar equations are parallel then the number
dm]ulluns will be

w ! B) 2

(C) infinitcly many (D) none of these

- Y TN Sx-4y+8=0 @ 7x+6y-9=0 1}

A W . (B) &M

o e D) A&

The pair of linear equations 5x-4y+8=0 and 7x+6y-9=0 is

(A) consistent {B) inconsistent

IC}] dependent (D}  none of these

7. o REm wlET 3x” -5x42=0 F 4 a T @A o2 +p2 F AR

9

w3 B 13
3

IC) -55 O =

If a ahd B are roots of the quadratic cquation 3x2 -5x+2=0 then

the value of a? + p2 is

9
13 B —=
W g 13
3
S (o) =
© 3 S
I S8/A/60S | Page 29 of 44
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'8 ufe fiam wdem 20C - T pel « ow e 2@ A pE Ea R

A} 4 1

i -6 lDl 4]

2x% -7x - ' 2 th
If one root of the quadralic equation 2xd -7x p=0 18 eN the

value of p1s
A) 4 B -4
iy -6 (D) 6

70 uf2 four wfte™ 2x2 - x-6=0 ® & :iitiﬂmﬂm'ﬁ%

A) -2 B) 2
3 - 3
< 3 (D)
: : 2 _v—6=0i =3 then
If one root of the guadratic equation 2x“ -x-6=0 18 —=1F
. another rootis
(A) =2 B) 2
3
© 3 D 3
80. foum witwm 2x? -6x+3=0 S A FR w2 2
(A) arfe® @ AR (B) «rAfa® U& WNR
(C) urafew ¢ (D) ¥ A o T
_S5/A/605 Page 30
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|

51-

2

($10)
what 18 the nature of the roots of the quadratic cquation
2‘3 -6x+3=07

N real and uncqual (B) recal and equal
() not real (D) none of these
of SR 2-5,5-8,8-11, .. % wil ) ek R
TV B) 23

© 4 (D} 35

The length of the class intervals of the classcs,
2-5.5—8.3- ) S T

w 2 B 3
c 4 (D) 35
o ¥ TR e wEnA w 6 A, @ ged aF) o B

@) 49 B) 9
e 21 D)y 15
if the mean of four consccutive odd numbers is 6 then the largest
pumber is
W 45 B 9
c 21 D) 15

@ YN 6 §W WIpA HENH w1 A

(A} 4 (B) 6

< 7 - (D) & AT
The mean of first 6 even natural numbers is

fA) 4 By 6

i 7 (D) nene of these
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| I'Q‘ |
Ra lec? 0 = 4
4
{A) an’ 0 o) cousc™d
P |
(€1  tan?e oy mos
8S. 8.7.9.3.9,8, 4.5.7.5‘“'!"“
AN S B 7
C) 8 o 92
Tht mﬁ’ds. 7.9.3'9.5.“|5;7|5i5
) 8 o 2
86. wfR P(E)=002W PIE') wwm }
A)  0-02 (B 0-002
(C) 098 (o) 097
If P(E)=0-02then P(E) is "-fq‘-‘al s
(A) 002 B) 0002
()" 0-98 o) 097
87. amﬁquw:nmmmuﬁm@lmm IW R 7§
siemwi k ?
1 ® <+
A 3 6
5
S D) —=—
© 13 O} 36
Page 3- *
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1110]
Jice nre thrown at the same time. What s the probability that

0
™ fference of the numbcers appearing on top is zero ?
1he
]
W 6
b)
D —ry
(D) 36

Jor@ # 241 N 3 & wfren @
1
B) 3

(D) 1

f=
Bl WO g = B\-

the probability of getting heads on both the coins in throwing two
coins I8

! 1
W3 | ® 3
(Ch % (D) 1
' £
B.Eﬂﬁwmmiﬂmitm&:{qmmﬂﬁ
wfem §
1
w3 G
1
€) %- D 3
A month is sclected at random in & year. The probability of it being
June or September is
1
w 2 B) 13
1
€ & o
88/A/608 Page 33 of 44
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> & sifuwan R |
90, s T W) Y i sium 4 W 5 I
1
w3 ® 3
2
(C) -“; D) 3
The probability of getting 8 number 4 or 5 in throwing a dic ig
|
: B 3
A =
2
2
© & © 3

o & dra G 2
91. ﬁgqaﬁnﬁo-,o)mm,amswl* g

(B) 25
1

(A) 8

(C) 64 (D)

The distance bctw@ the points ( 8 sin 60°, 0 ) ang
e .

( O, 8 cos 60°) is

(A) 8 (B) 25
1

(C) 64 © 3

92. 3R O(0 o;wﬁ%ﬁmfﬂl’%ﬁiﬁ* (x, y) & @ g0 orR
(A) x2 -y (B) x? +y?
c x*-y ) v A w @
S3/A/605 Page 34 o -

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

| 110 ]
l 0100 ) be the origan and co ordinates of the pont Pbe | x )
¥

nef) (he distance OPis
N

W x? -yt (B) e y?

€ X3 -y’ (D) none of these
_. mﬂhnz. 14)# zh &

N 12 (B) 14

) 13 (D) 15

The distance of the point ( 12, 14 ) from the y-axis is

A 12 B) 14
) 13 g 15
[44. fql-a_-aiﬂaﬂfet fler atd & o1e aite geret sifsfaaes

FAYel U, ATee U, 3Hige- 6,
UISIhd, siied, Ale ee, dc- 31 3iiT
Ay -6 B) -8  WfRwm e ns vl & Av..

(C) 6 (D) 8 ( BihurboardQuestionpqp:tcomp

Thcurdinntcn_nhepoiml-ﬁ.-—slia

Ay -6 ®)- -8
Iy © (D) 8

95 ii:§|3,~41ﬁiamﬂﬁmt?

. (A) WER @) fdm
() Tw o) g
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g

' i
3,-4) lie? i-_
In wheh guadrant Joen the point |
18]} Second

A} Firsy
(€1 Third () Fourth
o6 fufafen 2 W1 feg de wyutn # P d ?
(A (3,2) @ (3.2
€ (3,-2) @ (=32
Which of the following points lics in second quadrant &
A (3.2) @ (-32)
€ (3.-2) @ (=3.-2)
o7, fazadl (4, - 4 ) M [_4,4]ﬁﬁﬁﬁﬂ’lﬂmiﬁ Ry Fﬁi‘-{
e §
(A (4,9) J B
() (0,-4) (D) (-4.0)
The co-ordiriates of the mid-point of the line scgment joining -,
points (4, -4 Jand (-4, 4) arc
(A) (4.4) B (0,0)
(€) (0,-4) D) (-4,0)
98. tgruvE AB & ww feg (2,4 ) B Mg A & Fraws (5,7 B R
B & faam § '
W (2,-2) B) (1,-1)
(€ (-2,-2) (D) (-1,1) o
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(110 ]
fhe mid-point of line segment AH s (2, 4) and the co-ordinates of

P,;,int Aare | S, 7], then the co-ordinates of point Bare

W (2.-2) B) (1.-1)
© (-2.-2) D) (-1,1)
5, Pt 0 & & B & Fadas (10, -6 ) T (-6, 10)8MqAd
| ¥ & Rt & |
Al 1-2,-2) B (2.2)
© (-2,2) (D) (2,-2)
The co-ordinates of the ends of a diamcter of a circle are (10,-6
and { - 6, 10 ). Then the co-ordinates of the centre of the circle are
A (-2,-2) - B (2.2)
€ (-2,2) (D) (2,-2)
100, ot fedh P 9 & Rzaiw (4,61, (0,4) 3 (5,5) @ A B
% e & fdws §
(A} (S5,3) B 113.9)
€y (%,4) M)y (3.5]
The co-ordinates of the vertices of a triangle arc (4.6 ), (0, 4 ) and
( 5, 5) then the co-ordinates of the centroid of the tnangle arc
A) (53] B (3.4
(C) (4,4) D) (3,5]
88/A/605
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i
v - ¥ / BRCTION - B II“'l

Wy ywilg et / Short Answer Type Questions
T Wy 1daownqswﬁtmﬂﬂ'f"'w 1897 & gy 5,

5T & g 2 sw FAifer 1 u"""'ag
estions,
Question Nos. ! to 30 are Short Answer Type Qu Ansye, i

] ] ks. 15: J!

15 questions. Each question carmes 2 mar _ 2+4,

1 uﬂﬁaﬁa}kmﬂﬂwvﬁtﬂumﬁm“ﬂtﬁaﬁm
WY W QAwe WA W

If the radius of basc of a cone is 7 cm and ita height is 24 ¢ the

find its curved surface arca.

2. wE @ R e @ gf @ e 7 30 8140 B 3 WS T w e oy
grsa I W

The length of the minute hand for a clock is 7 ecm. Find the 4.,

swept by it in 40 minutes.

3. faz wtf5 tan 7°. tan 60° . tan 83° = 3.

Provcl.hnttnn?'.tnnﬁD‘.th:i‘ -J-.

4. mﬁgtﬁiuhmﬁﬁﬁasﬂ(-1.7)afk(4,-3)ahfﬁaﬁaa
taravs ®! 2 : 3 & wgom & i Ronfa s )

Find the co-ordinates of the point which divides line scgmen:
joining the points (- 1, 7) and (4, - 3) In the ratio 2 : 3 internall

[(5s/A7605 |
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|
|

)

(110]

’mﬁﬂﬂaﬂdmﬂdhﬁ'ﬂﬂ%ﬁMIﬁs'_1"{3'_51',[&]

(5.2) 1]

find the arca of the triangle whose vertices are (- 5, = 1), | 3,-5)
and (5,2}

fl w1 fet 943 f) ) g3 T A g8 AAH JA S

L]
The diagonal of a cube is 9¥3 cm. Find the total surface arca of
cube.
, RumgaH it & EET 2x2 -2¥2x+1=0 & @ Frd &
Using quadratic formula find the roots of the cquation
211-2J§x+1=[}.
g 3+11+ 19 + ... + 67 %1 ATHA 7@ H
Find the sumof 3 + 11 ¢+ 19 + ... + 67. '
o, uR Red wmim A @ 5 9 W 9 @ F 43 @@ 79 & @ wwA A9
F HL
If Sth and 9th terms of an A.P. are 43 and 79 respectively, find the
AP
10. amuwwhamaim%wﬂmﬁn 365 !
Find two consecutive positive integers, sum of whose squarcs
is 3635.
11 2 Eeas & T H AW 1sotsu'tflmﬂaﬁazﬁmmm§mtl
q wed & fog whtem ford
The difference of squares of two numbers is 180. The square of the
smaller number is 8 times the larger number. Write the equation
for this statemenl.
[ss/A7605 Page 39 of 44
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13.

14.

15.

16.

| l
&mng:mnﬂz\ﬂqsaﬁlr!ﬂﬁ W""”’“‘mm;,;?{

PS _PT wqy (PST =£PRQ. W mﬁﬁw‘f“w

SO TR
gz

In a triangle POR, two points S and T are on Lhe sides PQ and PR |

PT -
respectively such that fs%-ﬁ and £PST =<ZPRQ, then proy, thay

APOR is an isosceles triangle.

AH-AcmﬁmmﬁﬂgMBC‘ﬁ'ﬂ"‘ﬁmCB“&msnh
A a2 AD 1 BC i EF L AC &, M R % % AABD ~AECF Y,
E is a point on side CB produced of an isosceles AABC
AB = AC. If AD 1L BC and EF 1 AC, prove that AABD ~ AECF,
@MammmﬂcmwﬁQmwﬁmwgﬁ
gmaﬂposﬁtmmmﬁim?fdm T € D R W

f% AABC ~ APQR.
Sides AB and BC and’ median AD of a AABC are respecuvely
proportional to sides PQ and PR and medium PM of another APQR

Then prove that AABC ~ APOR.
AABC a1 ADEF awes § au W% Saww wm: 9 M2 qw 64 d2 ¢
af2 pE=5-1 ¥ N @ AB @ R
MB&andADEFnreshnﬂarnndtheirmaachmzanndm
respectively. If DE = 5-1 cm then find AB.

cosB l+wse
1 coaﬂ gin® ,

1+4cos® l+cos®
Prove that l-mga- ey

fag wt f%

Page 40 of 44
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[ 110]
Nqﬂ f% 1an9® . 1an27* =¢co163°.cot 81°.

i prove that tan9* . 1an27® =cot 63*.cot 81°.

. ‘mcosﬁ-% @ A cot A coscc A & WA A
I

I(cos A n-;- then find the values of cot A and coscc A.

9 @ 7 A @ @i Jan & ww 30“ma§1ﬂnﬁﬂ3|é}aﬁqlmﬁ%iﬁ
| gt T R el @) fam ) el w2

A ladder 7 m long makes an angle of 30° with the wall. Find the
height of the point on the wall where the ladder touchces the wall.

2. ﬂ*maﬂ“mw@gﬂaoh&mmsﬁﬁaa@m
CD® quﬁ@am%m?ﬂzmﬁ AABE - ACFB.

am
E is a point on the extended part of the side ADof a parnllclt;if
ABCD and BE intersects CDat F; then prove that AABE - aC

21. Ascwmﬁmgmfﬁ:tﬁmzcmtlmaﬂﬁ

AB? =2AC2.

ABC is an'isosceles right triangle with ZC as right angle. Prove that
AB2 =2AC?.

T2 ﬂ‘ﬁmnﬂ— @!Eﬁsin&*-cusﬂ%‘lﬂ'ﬂmﬁl

] Lan{}--s—Lhcn find the value of sin 0 + cos 0.

23. 3R sin3A=cos(A-26°) ﬂ:ﬁaawnfuﬁmiil A & 4R ¥1A Wi

I sin3A=cos(A-26°), where 34 is an acute angle, then find the
value of A.

| S8/A/605 Page 41 of 44
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L
-

Illl'jl

| 7
Q wom) w1 dmeey 5o @ ud gl A C6 HOT wh 4 i W

M wd A )

7
The sum of two numbers ia 50 and one number 18 3 limey of the

other . then find the numbers.

25 feeelfes-3m* mfgﬁuﬁw!l
Prowe that 5 -3 is an irrational number.

26 k% fay wa & v Rl | |.||,[3.klaﬁtl-l.4lmﬁ?
For what value of k points { 1, 1) [ 3, kjand [~ 1,4,
collincar ?

27 y~mmqmtmfe§mﬁﬁﬁ?ﬁﬂ(6-51.m (-4,3)8 swguy
f
Find such a point on y-axis which is equidistant from the poin:y
(6,5)and (-4, 3).

28.  xY+1 R xR WM Hifg
Dmdc,:avlbyx+l. _

29. fecre fnra wEifem & waim & 504 @91 1188 & HoWo W1 Hi
Using Euclid's vision algorithm, find the H.C.F. of 504 and 1185

30. frum @l 247 +5x-3=0 % fdw® wo 3 e ) wpha o e
H|
Find the discriminant of the guadratic equation 2x% 4+5x-3=0
and find the nature of the roots also.
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[ 110}
‘ #d I W / Long Answer Type Questions

fm31*35ﬁ‘iﬁﬂﬂmh;ﬂﬁw4“q}*ﬁ;h,,,;m

‘tmsiﬁf-‘!ﬂi‘ﬁ'ﬂtl 4x=8=20
w"ign Nos. 3] to 38 are Long Answer Type questions Answer any
; F.-srions. Each question cames 5 marks. 4x5=20

: d A
’(ﬁua:hm g x+3y-6=0 a0 21-35,_12.0 %] WAig uffd Y
@ ®ll

131

: 1 = nd
Draw the graphs of the pair of lincar cquations '3y - 6=0 &

| 2x - 3y-12=0 and solve them.
2. mﬁf*ﬂﬁMﬁEﬁm@ﬁﬂqﬁ&{i%qﬁﬁm%duﬂmJnl
ﬁﬁwﬁﬁmﬁammmmﬁﬁﬁ?ﬂﬁuﬂuum Erd &1

If one angle of a triangle is equal Lo onc angle of the other triangle
and the sides included between these angles are proportional then

prove that the triangles are similar.
33. &dﬁﬁ@muﬁaﬁitmaﬁmgﬂ!n@i e LMK
e R A R @ s wE )

A two digit number 138 four times of the sum of its digits and Lwice
the product of its digits. Find the number.

34 76 & Fa oh Tgrds W 3R R S : 8 & agwa d faafaa 2l
qrdl &) wifee)

Draw a line segment of length 7-6 cm and divide it in the ratio
5 : B. Measurce both parts.

SS/A/605
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| 110
fd IaT W / Long Answer Type Questions

- w'mﬁ“ﬁﬁﬁumhﬂﬁﬂﬁﬁﬁ4wﬂ#ﬁn 1w
?i-_msai!ﬁuiﬁat; 4x5=20

IR Hos. 31 1040 ane Long Answer Type questions. Ansusr arny
riﬁuans Each question carries 5 marks. 4 x 5‘1- .?{J
31 fo® TFT IR x+3y-6=0 T 2x -3y~12=0 Wl wreteg wffd A%
| @ Hl

‘Draw the graphs of the pair of lincar cquations x4y - 0620 and

[ 2x - 3y-12=0 and scive them.

0, oz w5 2R fed B @ qﬁﬁgﬁkwqﬁmi}; auat @ 3
A F H mﬁamﬂaﬂgwﬂwﬁiﬁﬁaﬁp ey g B

r triangle

if one angle of a triangle is equal to one angle of the othe
and the sides included between these angles are pr pportional then

prove that the triangles are similar. .
183 aﬁﬁﬁﬁﬁmmﬁaﬁi%mlﬁaﬂgﬁﬂ@ W HE) b
neree &Y gE @ e wm S
A two digit number 1s four times of the sum of its digits and twice
the product of its digits, Find the number.
34 7.6 @l Ha oF Tares @I o W@ 5 8 & sgwe A fanfa Wl 24
urdl & Wiy

4 Draw a line segment of length 76 ¢m and divide it in the ratio
5 : 8. Measure both parts,
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S

X faz et % (l

scc0-1an0) _\ 21an?0-2scc0 .tano,

“Ir,l

sec0+tan0)
Prove that (secO-tan0) |, . 91an?0-2sccO . tano.
{sec0+tan0)
W &y @ Pend w19 30 o9 ¥ H I WA iy
)
R whfa @ 2t gl A ohfedt & dn & wowc el
The radii of two circles are 19 cm and 9 cm respectively. Fing th
radius of the circle which has circumicrence cqual to the e |
Ao
the circumferences of the two circles.
37, Profefes v v o e o
e
@ S | 11-13 | 13.15 | 15-17 | 17-19 | 1921 | 2123 | 235
ARA 7 6 9 13 | 20 5 7
Find the mean of the followine distribution :
Class- o
| _interval 1213 13-15 | 16-17 | 17-19 | 19-21 | 21-23 | 23.33
| Frequency . 7 6 |9 13 20 5 1
3. TG b fows A Rdw Sw 4 3N o sk TR RE & o
(fftal) 18 @ ol 6 a1t §)1 = R W wrpliT Srea W =
7 The slant height of a frustum of a cone is 4 cm and the penimeies
{circumferences) of its circular ends are 18 cm and 6 cm. Find t=:
curvuil dsurﬁcehnl’ the frustum,
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